IRIX

~———Le Parti de la Fixation—

VIS CHC A2

DIN912

M b dk max. emin. k max. s max.
M3 13 5.5 287 3 258
M4 20 ¥ 344 4 308
M5 22 a5 458 5 4,095
M6 24 10 572 6 514
ME 23 13 6.86 B 614
M0 32 16 915 [v} B.I75
M2 36 18 1143 12 10175
M6 44 24 16 16 14212
mxl EAN BOX Mxl EAN BOX
M3ix6 5410439102223 500 M5x16 5410439038577 200
M3ix8 5410439102230 500 M5x20 5410439038614 200
M3x10 5410439038065 500 M5x25 5410439038652 200
M3Ix12 5410439038072 500 M5x30 5410439038690 200
M3Ix16 5410439038089 500 M5x35 5410439038737 200
M3x20 5410439038096 500 M5x40 5410439038775 200
M3Ix25 5410439038102 500 M5x45 5410439102360 200
M3x30 5410439038119 500 M5x50 5410439038843 200
M3Ix35 5410439102292 200 M5x55 5410439173421 200
M3Ix40 5410439102308 200 M5x 60 5410439114844 200
Max8 5410439102339 500 M6x10 5410439038928 200
M4x10 5410439038140 500 M6Ex12 5410439038966 200
Max12 5410439038188 500 Mex16 5410439039000 200
M4ax16 5410439038225 500 M6x20 5410439039043 200
M4x20 5410439038263 500 M6Gx35 5410439039036 200
M4x25 5410439038300 500 M6x30 5410439039123 200
M4x30 5410439038348 500 MEx35 5410439039161 200
M4x35 5410439038386 500 M6 x40 5410439039208 200
M4x40 5410439038423 200 M6Ex45 5410439102384 200
M4 x50 5410439208458 200 Mex50 5410439039277 100
M5x10 5410439038492 500 MGx55 5410439114863 100
M5x12 5410439038539 200 M6 x 60 5410439102391 100




